國立嘉義大學九十一學年度

生物藥學研究所碩士班招生考試試題

科目：細胞生物學
一、問答題：60分（每題20分）

1.Telling Them Apart. Suggest a way to distinguish between the two elements in each of the following pairs.

(a)Bacteria cells vs. a protist of the same size.  (b)Virus vs. viroid.

(c)Animal peroxisome vs. leaf peroxisome.    (d)Eukaryotic ribosome vs. prokaryotic ribosome.
2.(a)Some hormones trigger very rapid responses whereas for others the response takes much longer to develop.  
What generalization about the mechanisms of action of these two types of hormones can explain the differences in response times? 
(b)Which class of hormones acts via nuclear receptors?  Give an example of this type of hormone and briefly describe its mode of action.

3.What is meant by as cell cycle checkpoint? What is its importance? How does a cell stop its progress at one of these checkpoints?
二、選擇題：40分（每題4分）
1.The initial period of cell division with no associated increase in the size of the embryo is called
(1)cleavage  (2)meiosis  (3)metamorphosis  (4)metastasis  (5)maturation.

2.Which type of junctions is responsible for connecting the plasma membranes of adjacent cells in a sheet, 

preventing small molecules from leaking between the cells and through the sheet? 
(1)anchoring junctions  (2)tight junctions  (3)gap junctions  (4)hemidesmosome

(5)integrin-mediated junctions
3.During which phase of mitosis do the chromosomes line up on a plane located equidistant from the two 

spindle poles?
(1) interphase  (2)analphase  (3)metaphase  (4)prophase  (5)telophase

4.Cells that are capable of expressing all of their genes are called

(1)totipotent  (2)immortal  (3)differentiated  (4)tumorigenic  (5)metastatic

5.In eukaryotic cells, DNA replication is completed at which phase

(1) G1  (2) Go  (3) S  (4) M  (5) G2
6.Which of the following is not usually used as the secondary message for signal transduction?

(1)calcium ion  (2)cAMP  (3)cGMP  (4)sodium ion

7.Which of the following mechanisms does not actively transport molecules across cell membranes ?

(1) b, d  (2) a, f  (3) a, c, f  (4) c, e  (5) e 

(a)proton pump  (b)phagocytosis  (c)facilitated diffusion  (d)endocytosis  (e)diffusion  (f) Na+/K+ pump

8.Which of the following molecule seems to be responsible for the movement of the poles during anaphase ? 

(1) a, b  (2) b, d  (3) a, b, d  (4) c, e, f  (5) a. d.

(a)spindle fibers  (b)kinetochore microtubules  (c)cell plate  (d)polar microtubules

(e)septum  (f)periseptal annuli

9.Which of the following is an explanation for independent assortment, a factor in producing genetic variability?

(1)In anaphase I, which one pair of chromosome separates does not affect any other pair separates.

(2)Chromosomes are divided into daughter cells in a random fashion.  (3)In prophase I, which chromosomes

pairs with which other one is completely random.  (4)Each chromosome is capable of a different function. (5)Chromosomes can have different functions in various types of cells of the same organism.

10.Calcium is stored in a modified ER surrounded by myofibrils and transverse tubes. Its name is 

(1)neuromuscular junction  (2)synovial junction  (3)sarcoplasmic reticulum  (4)cartilage  (5)myofibrils.
